
５／19～５／22分 確認問題 第１章 正の数・負の数 
 

１年  組  番 氏名         

１ 次の計算をしなさい。技 各 3点×6＝18 点 

①   (＋2)−(＋4)      ②  (+13)−(＋7)      ③  (−8)−(−7) 

＝(＋2)＋(−4)            ＝(＋13)＋(−7)           ＝(−8)＋(＋7) 

＝−(4−2)                ＝＋(13−7)              ＝−(8−7) 

＝−2                    ＝＋6                   ＝−1 

 

 

④  (＋9)−(−9)        ⑤  0−(−27)           ⑥  (−11)−(＋27) 

＝(＋9)＋(＋9)            ＝0＋(＋27)               ＝(−11)＋(−27) 

＝＋(9＋9)                ＝＋27                   ＝−(11＋27) 

＝＋18                                            ＝−38 

 

 

２ 次の計算をしなさい。技 各 7点×2＝14 点 

①  2−5−3＋9                      ②  −3＋(−6)−5＋12−(−6) 

   = 𝟐 + 𝟗 − 𝟓 − 𝟑                                              =  −𝟑 − 𝟔 − 𝟓 + 𝟏𝟐 + 𝟔 

        = 𝟏𝟏 − 𝟖                                                           =  𝟏𝟐 + 𝟔 − 𝟑 − 𝟔 − 𝟓 
        =   𝟑                                                                    = 𝟏𝟖 − 𝟏𝟒 

                      =   𝟒 

 

３ 次の計算をしなさい。技 各 3点×6＝18 点 

①  (＋7)×(＋6)      ②  (−11)×(＋8)      ③  3×(−5) 

＝＋(7×6)                 ＝−(11×8)                ＝−(3×5) 

＝＋42                     ＝−88                     ＝−15 

 

 

 
   ④ (−9)×(＋6)           ⑤  13×(−6)              ⑥ −35×12 

＝−(9×6)                ＝−(13×6)                ＝−(35×12) 

＝−54                    ＝−78                     ＝−420 


